
 / ndf 2χ  1.096e+04 / 318
Constant  10.1± 478.6 
MPV       0.086± 4.951 
Sigma     0.045± 2.327 

10 20 30 40 50 60
, cm 2 y∆ + 2 x∆ = xy R∆ 

1

10

210

310 E
nt

rie
s

 / ndf 2χ  1.106e+04 / 261
A_core    22.7± 414.1 
sigma_xy  0.139± 6.624 
B_tail    2.55± 63.92 
lambda    0.0±    10 
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 / ndf 2χ  1.424e+04 / 276
Constant  10.7± 330.6 
MPV       0.08±  6.28 
Sigma     0.056± 1.947 
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 / ndf 2χ  1.447e+04 / 233
A_core    17.9± 423.3 
sigma_xy  0.120± 7.864 
B_tail    1.77± 14.16 
lambda    0.0±    10 

 0.12±sigma_xy = 7.86 
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 / ndf 2χ  1.518e+04 / 271
Constant  5.9± 197.1 
MPV       0.394± 4.388 
Sigma     0.084± 3.305 
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 / ndf 2χ  1.509e+04 / 227
A_core    12.0± 384.2 
sigma_xy  0.17±  9.58 
B_tail    2.99± 45.66 
lambda    0.2±     4 

 0.17±sigma_xy = 9.58 
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 / ndf 2χ   4224 / 331
Constant  53.8±  7445 
MPV       0.016± 3.029 
Sigma     0.007± 1.131 
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 / ndf 2χ   2342 / 264
A_core    80.1±  4050 
sigma_xy  0.025± 3.636 
B_tail    19.4± 733.1 
lambda    0.071± 6.927 

 0.02±sigma_xy = 3.64 

 E = 2.0 GeV
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 / ndf 2χ  1.026e+04 / 339
Constant  40.9±  5495 
MPV       0.02±  3.56 
Sigma     0.008± 1.327 
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 / ndf 2χ   6373 / 267
A_core    77.6±  3512 
sigma_xy  0.034± 4.609 
B_tail    17.8± 693.8 
lambda    0.070± 7.012 

 0.03±sigma_xy = 4.61 
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 / ndf 2χ  1.289e+04 / 327
Constant  33.3±  4429 
MPV       0.031± 3.665 
Sigma     0.009± 1.556 
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 / ndf 2χ   8130 / 269
A_core    70.6±  3286 
sigma_xy  0.044± 5.603 
B_tail    14.7± 635.7 
lambda    0.071± 7.401 

 0.04±sigma_xy = 5.60 
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 / ndf 2χ   6020 / 253
Constant  7.416e+01± 1.058e+04 
MPV       0.011± 2.504 
Sigma     0.0039± 0.7584 
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 / ndf 2χ  542.1 / 219
A_core    84.9±  5900 
sigma_xy  0.016± 3.169 
B_tail    27.6±   773 
lambda    0.060± 4.869 

 0.02±sigma_xy = 3.17 
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 / ndf 2χ   7052 / 268
Constant  62.1±  8848 
MPV       0.014± 2.863 
Sigma     0.0046± 0.8982 
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 / ndf 2χ  825.8 / 232
A_core    82.4±  5815 
sigma_xy  0.018± 3.694 
B_tail    22.8± 687.7 
lambda    0.064± 5.541 

 0.02±sigma_xy = 3.69 
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 / ndf 2χ   8367 / 273
Constant  50.5±  7197 
MPV       0.018± 3.373 
Sigma     0.006± 1.084 
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 / ndf 2χ   1589 / 239
A_core    77.2±  6127 
sigma_xy  0.020± 4.431 
B_tail    17.0± 493.6 
lambda    0.081± 6.631 

 0.02±sigma_xy = 4.43 
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 / ndf 2χ   5716 / 219
Constant  9.327e+01± 1.322e+04 
MPV       0.009± 2.105 
Sigma     0.0031± 0.5937 
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 / ndf 2χ  388.1 / 203
A_core    92.2±  6547 
sigma_xy  0.011± 2.538 
B_tail    37.8± 740.8 
lambda    0.071± 4.092 

 0.01±sigma_xy = 2.54 
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 / ndf 2χ   6561 / 208
Constant  7.500e+01± 1.066e+04 
MPV       0.011± 2.504 
Sigma     0.0038± 0.7387 
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 / ndf 2χ  638.6 / 201
A_core    84.2±  6399 
sigma_xy  0.013± 3.118 
B_tail    26.7± 640.2 
lambda    0.069± 4.898 

 0.01±sigma_xy = 3.12 
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 / ndf 2χ   7205 / 236
Constant  60.4±  8602 
MPV       0.014± 2.926 
Sigma     0.0046± 0.9111 
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 / ndf 2χ  922.6 / 221
A_core    79.3±  6307 
sigma_xy  0.02±  3.75 
B_tail    20.1± 524.3 
lambda    0.078± 5.917 

 0.02±sigma_xy = 3.75 
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